Geeetech rostock mini G2S upgrade kit

SKU NO. Name Specifications | Qty Pic
44-001-0010 5 washers M3 16 OO0 OO0
44-001-0063 9 hex nut M2.5 6 e o
44-001-0166 16 bolt M2.5x8mm 2
44-001-0115 17 bolt M2.5x16mm 8 |
44-001-0117 | 18 bolt M3x8mm 3 Jm————
44-001-0119 19 bolt M3x12mm 7 F—

]
44-001- 24 bolt M4x8 F
4-001-0126 X8mm 12 -
44-001-0152 27 bolt M5x16 25
45-001-0202 | 31 ball bearing MR84z27 6 _
.. arp
45-001-0203 32 driving wheel 3 -
a4
45-001-0214 | 35 | linearbearing | SCS10UU | 6 p—
- -
MKS8 J-head
700-001-0902/ hotend ) M
700-001-0851 | > | MK8J-head | dualsingle 1 I L s
hotend o LON:
48-001-0120 | Al12 | Carriage mount RK-12 3 _
45-001-0208 | M1 Spider 1 J
45-001-0212 | M2 Fan mount 1 | o I |




Prob >
45-001-0213 | M3 robe @

Lock ring
44-001-0086 |M3*3 jimi bolt
45-001-0211 M4 Probe mount “
45-001-0039 | M5 Belt moun ‘

LY

45-001-0210 | M6 Endstop trigger

mount m
45-001-0209 | M7 Diagonal Rod joint Ql IQ




